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ψ
(x
,t)

d
x

2
8

∣∣∣∣∣



2
.2

∣ ∣ ∣ ∣ ∣
M

ik
r

o
s
k

o
p
is

c
h

e
B
e
s
c

h
r

e
ib

u
n

g
v

o
n

L
ic

h
t
-M

a
t
e
r

ie
-W

e
c

h
s
e
l
w

ir
k

u
n

g

F
ü

r
d

a
s

in
d

u
z
ie

rt
e

D
ip

o
lm

o
m

en
t
p

fo
lg

t
so

m
it

:

p
(ω
)
=
−
e
x
(ω
)

=
e
2
/m

e
( ω

2 0
−
ω
2
) +

iω
Γ
E
(ω
)

D
ie

G
es

a
m

tp
o
la

ri
sa

ti
o
n

sd
ic

h
te
P

b
ei

ei
n

er
T

ei
lc

h
en

a
n

z
a
h

l
v
o
n
n
e

la
u

te
t

so
m

it
:

P
(ω
)
=
n
e

e
2
/m

e
( ω

2 0
−
ω
2
) +

iω
Γ
E
(ω
)

D
ie

P
o
la

ri
sa

ti
o
n

sd
ic

h
te

st
el

lt
ei

n
e

R
ea

k
ti

o
n

a
u

f
d

a
s

el
ek

tr
is

ch
e

F
el

d
d

a
r.

P
=
ε 0
χ
E

=⇒
χ̃
(ω
)
=
χ
′
+

iχ
′′

=
n
e
e
2

ε 0
m
e

1
( ω

2 0
−
ω
2
) +

iω
Γ

P
em

it
ti

v
it

ä
t:

ε̃
=
1
+
χ̃
=
ε
′
+

iε
′′

ε
′
=
1
+
n
e
e
2

ε 0
m
e

( ω
2 0
−
ω
2
)

( ω
2 0
−
ω
2
) 2
+
ω
2
Γ
2

ε
′′
=
−
n
e
e
2

ε 0
m
e

ω
2

( ω
2 0
−
ω
2
) 2
+
ω
2
Γ
2

ε
′

w
ä
ch

st
(a

u
ß

er
h

a
lb

d
er

R
es

o
n

a
n

z
)

m
it

d
er

F
re

q
u

en
z

a
n

(n
o
rm

a
le

D
is

p
er

si
o
n

).
In

d
er

N
ä
h

e
d

er
R

es
o
n

a
n

z
is

t
d
ε
′ /

d
ω
<
0

(a
n

o
m

a
le

D
is

p
er

si
o
n

).

ε
′′

b
es

ch
re

ib
t

ei
n

en
a
n

n
ä
h

er
n

d
g
lo

ck
en

fö
rm

ig
en

V
er

la
u

f
u

m
d

ie
R

es
o
n

a
n

z
ω
0

w
o
b

ei

d
ie

B
re

it
e

d
u

rc
h
Γ

b
es

ti
m

m
t

w
ir

d
.

In
d

er
N

ä
h

e
d

er
R

es
o
n

a
n

z
g
il

t:

ω
≈
ω
0

( ω
2 0
−
ω
2
) =

(ω
0
−
ω
)(
ω
0
+
ω
)
≈
2
ω
0
(ω

0
−
ω
)

ω
Γ
≈
ω
0
Γ

So
m

it
fo

lg
t:

χ̃
(ω
)
≈
n
e
e
2

ε 0
m
e

1

2
ω
0
[(
ω
0
−
ω
)
+

iΓ
/2
]

ε
′
≈
1
+
n
e
e
2

ε 0
m
e

(ω
0
−
ω
)/
(2
ω
0
)

(ω
0
−
ω
)2
+
Γ
2
/4

ε
′′
≈
−
n
e
e
2

ε 0
m
e

Γ
/(
4
ω
0
)

(ω
0
−
ω
)2
+
Γ
2
/4

4
0

∣ ∣ ∣ ∣ ∣

E
l
e
k

t
r

o
d

y
n

a
m

is
c

h
e

G
r

u
n

d
l
a

g
e
n

∣ ∣ ∣ ∣ ∣
1

F
lu

k
tu

a
ti

o
n

e
n

a
m

B
e
is

p
ie

l
e
in

e
s

W
ü

rf
e
ls

B
ei

ei
n

em
W

ü
rf

el
tr

et
en

d
ie

Z
a
h

le
n
{1
,2
,3
,4
,5
,6
}

m
it

g
le

ic
h

er
W

a
h

rs
ch

ei
n

li
ch

k
ei

t
a
u

f.
D

er
E
rw

a
rt

u
n

g
sw

er
t

b
et

rä
g
t

h
ie

rb
ei

:

〈α
〉=

1 6

∑ i

α
i
=
3
.5

F
ra

g
e:

W
ie

g
ro

ß
is

t
d

ie
W

a
h

rs
ch

ei
n

li
ch

k
ei

t
fü

r
ei

n
e

A
b

w
ei

ch
u

n
g

v
o
m

M
it

te
lw

er
t?

⊸

H
ie

r
is

t
d

er
M

it
te

lw
er

t
ei

n
e

g
a
n

z
e

Z
a
h

l,
d

a
d

er
W

ü
rf

el
n

u
r

d
ie

Z
a
h

le
n
1
,2
,3
,4
,5
,6

li
e-

fe
rt

,
d

.h
.

d
er

M
it

te
lw

er
t

w
ir

d
n

ie
g
em

es
se

n
.

So
m

it
is

t
d

ie
W

a
h

rs
ch

ei
n

li
ch

k
ei

t
fü

r
ei

n
e

A
b

w
ei

ch
u

n
g
P
=
1

.

F
ra

g
e:

U
m

w
el

ch
en

W
er

t
w

ir
d

im
M

it
te

l
d

er
g
em

es
se

n
e

W
er

t
v
o
m

M
it

te
lw

er
t

a
b

w
ei

-

ch
en

?
⊸

〈δ
α
〉=
〈α
−
〈α
〉〉
=
〈α
−
3
.5
〉=
〈α
〉−
〈3
.5
〉=

0

So
m

it
si

eh
t

m
a
n

,
d

a
ss

d
ie

se
r

M
it

te
lw

er
t

im
m

er
fü

r
sy

m
m

et
ri

sc
h

e
W

a
h

rs
ch

ei
n

li
ch

k
ei

ts
-

v
er

te
il

u
n

g
en

v
er

sc
h

w
in

d
et

.

V
a

ri
a

n
z

a
ls

z
w

ei
te

s
M

it
te

l
d

er
V

er
te

il
u

n
g
:

〈(
δ
α
)2
〉=
〈(
α
−
〈α
〉)
2
〉

=
〈α

2
−
2
α
〈α
〉+
〈α
〉2
〉

=
〈α

2
〉−
〈2
α
〈α
〉〉
+
〈〈
α
〉2
〉

=
〈α

2
〉−

2
〈α
〉〈
α
〉+
〈α
〉2

=
〈α

2
〉−
〈α
〉2

H
ie

rb
ei

b
es

ch
re

ib
t

d
er

li
n

k
e

W
er

t
d

en
»M

it
te

lw
er

t
d

er
Q

u
a
d

ra
te

«
u

n
d

d
er

re
ch

te
W

er
t

d
en

»M
it

te
lw

er
t

d
er

v
er

sc
h

ie
d

en
en

W
er

te
«.

F
ü

r
d

en
W

ü
rf

el
g
il

t:

〈(
δ
α
)2
〉=

3
5

1
2
≈
2
.9

In
d

er
Q

u
a
n

te
n

m
ec

h
a
n

ik
is

t
d

er
W

er
t,

d
er

d
er

W
u

rz
el

a
u

s
d

er
V

a
ri

a
n

z
en

ts
p

ri
ch

t,
d

ie

so
g
en

a
n

n
te

O
rt

su
n

sc
h

ä
rf

e

∆
x
=
√ 〈
(δ
α
)2
〉.

∣ ∣ ∣ ∣ ∣
2
9



L
ic

h
t
-M

a
t
e
r

ie
-W

e
c

h
s
e
l
w

ir
k

u
n

g

∣∣∣∣∣
2

D
ie

P
o
la

risa
tio

n
sd

ich
te

ist
d

ie
v
ek

to
rielle

Su
m

m
e

ü
b

er
a
lle

m
ik

ro
sk

o
p

isch
en

D
ip

o
lm

o
-

m
en

te
p

ro
E
in

h
eitsv

o
lu

m
en

:

◮
A

u
srich

tu
n

g
b

esteh
en

d
er

D
ip

o
le

in
F
lü

ssig
k
eiten

/G
a
sen

(D
ip

o
l-,O

rien
tieru

n
g
sp

o
-

la
risa

tio
n

)

◮
V

ersch
ieb

u
n

g
v
o
n

Io
n

en
in

K
rista

llen
(Io

n
en

p
o
la

risa
tio

n
)

◮
Ä

n
d

eru
n

g
d

er
L
a
d

u
n

g
sv

erteilu
n

g
v
o
n

E
lek

tro
n

en
in

A
to

m
en

(elek
tro

n
isch

e
P
o
la

-

risa
tio

n
)

A
u

fg
ru

n
d

d
er

T
rä

g
h

eit
d

er
L
a
d

u
n

g
strä

g
er

fo
lg

t
d

ie
P
o
la

risa
tio

n
d

er
Ä

n
d

eru
n

g
d

es
F
el-

d
es

n
ich

t
in

sta
n

ta
n

.B
ei

o
p

tisch
en

F
req

u
en

z
en

sp
ielt

d
ie

O
rien

tieru
n

g
sp

o
la

risa
tio

n
k
ei-

n
e

R
o
lle

(elek
tro

n
isch

e
P
o
la

risa
tio

n
).

M
o
d

e
ll

d
e
s

h
a
rm

o
n

isch
e
n

O
sz

illa
to

r
(L

o
re

n
tz

-D
ru

d
e
-M

o
d

e
ll)

F
o
lg

en
d

e
D

iff
eren

tia
lg

leich
u

n
g

d
es

h
a
rm

o
n

isch
en

O
sz

illa
to

rs
n

a
ch

d
em

L
o
ren

tz-D
ru

d
e-

M
o
d

ell
w

ird
h

ier
b

etra
ch

tet:

m
e ẍ
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Â

u
n

d
B̂

v
er

a
ll

g
em

ei
n

er
n

:

∆
A
·∆
B
≥
∣ ∣ ∣ ∣ ∣[
Â
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